28 (A) 3H () 48 (JK) 5H (X) 68 (£)
iz BEmf —ANEY | [#iz Banf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#mzse BR% — A&y
ERD=E EXRD=E EXRD=E EXS=E EXSE
t |guRiRy 50| |¥ [EEkEw) 60| [C |[BEXEE-8) 700 |V [BEXE®R 65| |= [/ 50
A EPR, 50| [&  [k#iE B 5| [1F |[BaxEE-e) 8ol Y [s3aibx 05 ¥ |[=m/ 50
; 7 |seaex 05| |~ § 479(2 X 20mATAR) 15 ’/ R 7.5
5 et 206 I;: FRARIE (2 X 200254 R) 15 L 4= 206 0) WYES 8 BEE 15
v A |EE 08| | SRF::t (v 4| |
¥ |[BHELEVTF 20| |~ [BHE 08| |# |EmmitEx2mz542) 25| |= AS ARE 206
NS 10| £ [ARXLTF ke 15| |0 [&E 1|2 (¥4 0.8
2 [whuEbyxE 1k 15| |[A A 4l 2 [Lepinng 80| |# L&KW 3| |3 |BAKS (2omf) 50
EE 20| |” [@oEnE 1k 5| | [E& wl |5 [&E ol |- [p3gm i
A% 10 CEH 2| |= [2EZAITRL 15| | o |LE3kE 15 | | EsRE G 0.7
& |E==v 4 |4 |EE 2| L Az 10 b 2 05| g |&£= 08
g, [[2Al< 03| [z [LBE*¥ 12| /b |[GBEeVAFA 500g 8| |4 & |[CAIK 0.3
Y5451 0.5 L&S5K 1.2 | |54 2| 2L %435 206 L&S5K 25
F (@ rIKE tke 50 | |&& 01| (@ [L&Sw 3 SN 2
* (B PR FryT ke g| | FEaIr 05| [#* [ 2| B ThAAD 15 l prpli] 2.5
2 [pre—y=2 2| |5 [puEcE 1| [~ (&= i gf EOC TS 25 *; £Uit 15
| | BRESHE 05 5 & |5 5 |5 |PESAIZeK 10| |%
- |BiE 02| |4 [4E 206| (g, - AB 1| |~ |[R—ardEm) 5
& |[EH 1 v PN 35 [1F [waevats soos 6| |7 |2E 15
$H1oL 35| |8 |Z=wpSY 15| |2 CFEH 1] b | FEeRY 25
¥ —av (E) 10 l‘ =35y 10| [C () E it (hyh) BE-200g 0.8 L&5W 2 l £l 15
;L T 40 7’ IMAZE 10 ;‘\’ AZ 5 g =B 11, [E=x 15
7 Leptng | |7 [Az 5 wYBTHE 1|15 [2Y4 |7 [rz 7
N Ry 25( |y (B BEF LKLy LY 10| [k |@ossonkLysyy 10 WYBRIE 15| |4 |H35H 1
f |AB 15| |+ i =Lt 5| |1 L&SWp 0.8
» |tAaY 2] 1A [rorzoscem mins 5[ (@ |(LR)LLAAZE 10 T [FERLavuA 0.3
# o |s4Y 07| [#  |rvy HEEXRES 20| |® MAE || |BE 0.1
~ |35 1 ;|< E 20 2 Rt 6 |/ ZLsS 0.03
(B MB>R—T ke 4l |5 fhE 3 | E& 20 5 CFih 0.5
BiE 04 FLhh® hyh) 08 AE 8 |5 [HEr2B kg 05
ZL&S 003 | |HS&H 0.5 i 5 |1
FErary A 03[ [BL [ HBR—T 1ke 4 L&5K 1.8 [ |E& 25
o—yx of] |7 [Lesw 0.7 B ||l (A 10
) 65| Y |&iE 0.4 #Yh 05| [ [zoEfir 8
¥ lzLss 0.03 88 0.2 'lJ ) HHESDY 1008 05
() vUFAF—K Sa BBl N5 ,T\ Fxa YA 0.3 HIVET =LH 4 | - SEA 1
(B)x e 747K 56 B ho10| | |SEH 03 HLEM 08| |dh |[EINBR—T Tke 2
n |i&m 140 7K 120 |>  [L&3KW 0.8
H & |FExravys 0.3
~ B FERTYY 40 ~  |BiE 0.4
g | 0.3
BIVET 7-LH 4
HLER 0.8
K 140
(B) > —y7—4—+ty— 50




98 (B) 10H () 11H (k) 12H (K) 138 (%)
iz BEmf —ANEY | [#iz Banf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#mzse BR% — A&y
— _ ERDE EGRDE | | ERDE ERDE E%RDE
& #%Elak(%;f-a) 0] |1E [BEXER 60| (= |[BEAX(EE-H) IR A EPRYAVIE ) 50 [ |[HEEk(E®K) 62
e BEX(FE-B) 80 E Xz B 5| |I& [EkER-B) go| |V |aw~ssL LA 50 [*  [ExER) 68
B X os| |~ Z L [xmz a8
et 206 N HER L F - F = n ” ;
4 | =R QYY) 17) |4 [#2 26| | %3 206| | [RHE B®R 7
=) RN ES 10 |s, w A |BRERAEXR 0.5
(;%)h\f:(?t\bh;ﬂ*ﬁﬁ% 37| > AS 5 BREYD (3 X 3cmRTAR) 45| (4 CHBAOIO0vY 60g 60| |~ REAHDME 200g 1.8
77?\ #if-4ail 4 |~  |CRTERT ke 51 |5 |iBE 1| ¥ |kt 5| |&
< HiaE 2 )§\ P 4 1% X 45| |~ NE=] 206
L |BEE 35| |7 [cEm 18] 1B [Az 0] |F [FeRy 35| |Y
h [Lsd0 25( |”  |[EHE 1] g [LoL g |AZ 5/ |7 |mevtexemzsaz) 23
b |LEHE 25 L& 1 |z [PRE 5 |z |UEDREY—R 10| |4 [EE 1.5
L [#YA 09| |4 FEOYA 04| |7 |&EZE 05 3, |BEHEEM(30) 17
(2 —Bk 001 |3 [BIE 03| Ly | Y545 iH 2| |k KuE B 13 . 40
/t K 1.3 o ) 003| |7=  [HVif 7| [ [R—ar(Em) 8l |12 [AZ 10
~ il _ N T 2 .IJ EZa 25 ;)b (A)SBLAFA 5008 5
A 2\7--\";\*} 25 b 43 206/ |- FRHZ 1.5 J (%) FIhKE Tke 18 g |FUbERIAR) 0.5
B R AL 15| |5 5 [LESW 1y [Eey 15/ |5 [L&IW 2.8
+ |BeL 15 [ |£%L 3| |= | BYBTE 15 [p |AB 10| |5 |=B# 25
B A5 - 5 Zp3Y 20| |L» — (ff)h—ILa—> 4| | |BE 0.1
; BWYBEITHE : il 1= |As 8l |&  [Cening 55| 1= [9S54 0s| |5 [@ve =L@ 2
b (O TV, 8| |F  [2<0EATY) o4l | wTiE 1.1 JL\ W HBR—T kg NREERE 50
z : Z (B BRBEELYLLY 10 4 ) FARESHE 0.8 &
;EH%‘?L 5/ |5 : |2E 25| |7 [FEravys 06| | [Frrv 35
C |Ledivg 30 [ [3850 20| |4 BB 6| |+ |BiE 04| |z [ex 20
® FE 20| > |EHE 35| [+ [ELIIES 13| | | cL&> 004 |= |BL 20
73: FLbhh s (Hvk) 05| (@ (ﬁ)f{j}—A:—p 20 DEIAITRL 10| |X | EAE 02| (A [BAZESR 1.4
y PhF 3 /'l'\ FoF A 10 AS 1~ B 120 [ [HRLZE 0.3
b |mae 55 |, [AZ 8 ¥ 5| | 2
# gif T i ff’gfex—j 1kg 4 gi;:@ 2 gi (E) RSARF—X 20| |* (B) 2TV R i1 40
z - = =R 1 LR 0.5] |_
4K 120 |z, [L&SW 0.7 BIVET LM 4 2'[
7 [FERravyA 0.4 HLE®R 0.8 7
1) BiE 0.3 K 120 1)
; ZL&S 0.03 v
1 CFEH 0.2 -
k ThASA 0.5 g]\
B 100 )
I H
F |(@EEsaIsLr 25 -
)
P




168 (A) 178 (K) 18H (k) 19H (K) 208 (%)
iz BEmf —ANEY | [#iz Banf —ANEY | [wus BRf —ANEY | @z BR% —AEY | |#mzse BR% — A&y
ERD=E EXRD=E EXRD=E EXS=E EXSE
¥ |BaxXEfR-A) 0| (S [BEXER 68 |2 [ayR/SU (AR 50 (S [HEX(FFE-H) 0 & |[HEEXER 65
X |gaxEiR-n) go| [ [mEAxXE® N e ED) 50 |F  [BEX(EHE-A) 8of |Y [samiex 0.5
E ~ iRt K 0.5 ;\o w i) A A M- EAEL( X 1en) 12
3 L= 206 4 5 43 206 #® £33 206 CRIBA Hh EHEL( X Ton) 8
Y = 206 3, 4+ |AB 7
il BREYD (2 X 3cmR T/ R) 18 =3 5 RALR BHBI S -/ 60 O RB 2L RAHEBLL 50| |%L 1B (EEpE- CRAMNSD) 6
L |EE 40| |5 [BEBEx2m251%) 30| (Bl |onsris soumsmmens 80| (1B |BE 0.1 RTERT ke 5
l Lehirg 25| 7= [E&E 1 ORI FruT ke 5| (B [cLs> 001 (¥ [454m 15
7 [Rer—= 15 i T 2| |V [eaprov—=2 4 f‘; AR 15 Hf LadH 25
2 |EPREKE ke 15 |7 [FrRY 35| |7 |EARESHE 1 g [CASA 5| [0 | BE 15
X 13 BEXLF 1kg 15| || [LE%E 04| |3 |&t=Aai 4l |x | LB 1.2
& |¥545m 15 [+ [AB 1| 7 [B 3| | [EZE 2| B (&% 0.5
RPN 10| |&  |HRE 5[ |+ h | FUTHA 15/ | |HLE®H 1
== 5| |V &2 1| |¥ |R—arEm 5 A |AB 10| |&
B aoEsg ke 5 [ZAl=< 05| [F [Ceng 5| | £z 06| (& [43 206
g’ 1A= 0.5 % CFEih 1.5 |j W Tif 0.5 s CFEih 05| |?
¥ |£EE 02| | |L&IW 25| |z |E& 25| | 5 L&51 24| |2 [TASD 7
5 |45 15| |y |LEE 1 | (B35 05| |5 [#Y4 12| | [Az 10
g |INE®R 5 |1 HYA 05| [+ [|FEFrarvA 02| (o [TARA 04| i+ [YIFLXIE 8
Y55 5/ |~ . |BiE o1 [# [£Lit 10 (82) %3+ 1 05
N L — RIS 40| |¥  [CL&S 0.02| | % B (o 0.7
:;, () 5BA—T ke 3 ;"; FuH YA 20/ |7 AT 30 g LeSh 2
L (B PR FryT ke 2 # AS 10| o |aEgEy1r—Gm 10 s SRS 6 v HYA 1
~  |2RE—V—=R 1| |~ |YBacE 15| |v,  [(®BEVAFAT Tke 10 |y [EE 25| [y | LE#E 05
I | EADDY—R 1 (B BEFLILELY LY 10| |* |EZE 30| |4 [ADELIT 7] |1 Lt 20
o |L&SK 1 T [FeRY 30| |[R|[HhFE 5| |~
D |FrYR 450g 1 — 40| |b (A3 5| [ |[Ea%z of M [ FLEA 28
# o RRESE 1 Ay 3| |7 [BFL LA ] | [mmg 7
T & 0.7 ;’;' Y54 h 0.5 i K 120 gi 2EZAIZL 10
FExraryi 0.5 Zz  |[@®rez—T ke 4 |th o |HhhFE 5
cL&d 0.04 [ L&SK 07| | [UE)SYHRFYY 15 FLLLVEH(RSAR) 0.6
b2l 75 7 [FErravyA 04| (& L&S5W 2
BiE 03| |~ Bt 0.4
FeRY 35 L&D 0.03 BlYET =LA 4
=) 20 & 110 HLER 0.8
(37)BEIVvIR 1 7K 130
(E)FELZEFLYL VY 8
(E)BEMELX)— 50
INEFL 4




238 (H) 24H () 25H (K) 26H (K) 278 (&)
BB Bad —ANEY | [#iz Bad —ANEY | [wus BRf —AHY | [#s BR% —A&Y | (wus BR% — A&y
EX%HE E%HE E%HE E%SE kRS E
T |BAEXER-A) 0| |7 |[HEEXER) R EE 30| [ [HEX(EE-B) 70 |S [HBAXER 68
T |maxER-a) sof || [xmE aw 5| B [3vssy 20| & [EE*(ER-E) so| | ek (EK) 75
i ik os| 3 [ Ao A gmilx 05
= 206| |, [ommes sl xm 9 |~ |HEEL 206| |4 [4E 206| |4 _
Y E lmms ttemsioxam 6| |, 3| g, |45 206
FRPYIL (3 X BemR 51 R) 18] |5 B ARESTE 1] | (R F20—2) 35 A LbLOBMIE -1 40
4+ BB 117 |[E& 13 W Tif 1.5 LY [hhuvbLossng B 50| [ |mmiex2mz5c2) 18
e A LA (1 X 4cm) 8l | NS 4 f': 588 AL (1 X 1om) (BIIRE) 12 el 2 prpi] 2
* b 1 f IYUF(1x2x0. 3em) 4 28 B 44 EAELCT X Tem) (BIIRE) 8 é') =5y 20 E_ ) BB (k) 1keg 50
5 KLh)S59501ke 20f |y |ORITEHT ke 4 |y Rz UE) A PO i 20/ |y |[EHE 40
L |EE 35 |2 |I2Ad< 1y [|[Fery 30| |, [BBL 20| | |FxTHA 15
] e < 30 YSFH 14| | | EE 30 |I;»n  [AB 5| [ |HookEck—L) 12
12 |HOIKEGR—L) 15| | |FExLaIUA 07| [& |AB 10| |& |BYBCHE 1| B |AZ 10
E A 15| |3 | &8 08| |’V |zuv¥ 5 (B HAFL Y Y 8 [ |FLLnEis4r) 0.8
L [z 5| | [cLes 003 ¥ [zl 03 i [ZAl=< 0.5
g &F 2 ?J é'; YSFH 1.3 5 misf 7 7}7' Y5 1
S U] (&5 28| |z |HASESE 111y [FRESIHA 4 |5 |LedW 33
# |[BH5R—T ke 3 | 8 |RA=EATL Eg 005 | |EH 25| o [LB# 2.8
L& LI | [FeRY 250 |47 [L&LSW 2l |1 BT 15| |&  |@wrerrsrsd Tk 2.5
S | FERVaLYL 04| |7 |Z®3Y 20| |7 |FEravUL 05| |F [hh# 5| | |2 2
F (e 04| |¥  [7RIS5HZ 0| |7 |[&& 02| |® [haz 5/ |6 [Fxravyus 0.5
t LS 004 | [EA—na— 5 |, [oL&3 0ol |[*X |Haz 45| [P &5 0.1
vy  |TASA [y [Emmosrryyey 8| |1 # |BETL LA 4 Thih 1
s |SEH 05| |4 £ |E03Y 30| | |X 130 K 10
v & 50| | | A—a (5Ef) 8l | ¥Ry 25( | &
g = [®avAFaAE ke 8| |F [FETUAB 5| [ |UE)F—X #iaik 13.5 L 20
»  |IhEFL 3 [P [Lehing 30| A [Z—EURGIH) 15| [ FrAY 20
A (R REKE 25 ; E& 25 z (B) 157 RLy s 8 ? x03 12
TARA 3 | AyF—= 20| | o =Y 10
af-1a il 5/ | |AZ |y @zt ssme 70| |2 (B BLERLY T 8
Na=his 25| || +ay 1 |7 z
L&50 07| |7 [¥55H 05| > it
b2l 15 () FIrKE ke 15| ¥
T @ ASR—T ke 4| |7 T
L wl |2 [FEravys 03] ¥ %
INRZE 20| (5 |[FERESHE 15 -
A5 10 |v |BiE 05| |] q:
BWYBIE 1| {7 |EL&LD 0.03| |4 1)
(E)#ELRBFLYI VY 10| |/L O—!)T 0.1] )b H
~ & 100| |+ ~
N —
i N
) (B) 2377yl #HHIiE 28 th
2 (1))
- Iz




308 (A)
iz BEmf —ANEY
_ ERHSE

=P C =) 70
% BEX(EE-a) 80
4 et 206
7

BRI M- REAEL (2 x 20m) 12
& A b EAL (2 x 20m) 8
Y |mgEy1or—am 5
A [(LR5Fom ke 22
E Lohinrg 80
PR E 40
n|AS 10
Ly HS545H 1.2
3 Bl 1.5
D |LLSK 1.3
A b 12
'|’ FEaY i 0.6
= HL—# 0.3

BiE 0.2
7 |SL&S 0.03
R = 20
/\
7 |Eeny 30
g Zp3Y 20
o FRINSHR 15
- |BYBCE 1
* BRI HOBELYL Y 10
&
A




